Mathematical Concepts Revision Week3

Basic Algebra

Simplifying expressions
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Expanding Brackets
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Adding fractions
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Number Definitions



- Natural number - the positive integers from 1 onwards.

- Real number - includes whole numbers, rational numbers,
irrational numbers, they can be +/- or O.
- They are real as they are NOT imaginary.
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- Rational number - a number that can be made by dividing
two integers, a & b, where b is not equal to zero
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- Irrational number - a real number that can NOT be made by
dividing two integers, it's decimals goes on forever without
repeating
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- Imaginary number - a number that when squared gives a
negative result.
- Symbol oftenisiorj.
- When we square a real number we always get a positive
or zero result. Therefore, we imagine squaring a number
and getting a negative result.
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- Ois also an imaginary number
- We use imaginary numbers to allow us to find solutions to
many equations that don't have real number solutions
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- Complex number - a number that is a combination of a real
number and an imaginary number
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Adding complex numbers
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Multiplying complex numbers
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Dividing Complex Numbers
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Sums and Products
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Proofs by Induction
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